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GEOGRAPHY

onours Generic/Regular)

For Honours Generic
. Answer the Questions from any one Option.

OPTION - A
( Geography of India with reference to
N-E India)
Paper : GGY-HG-4016
OPTION - B |
( Population and Settlement Geography )
: Paper : GGY-HG-4026

For Regular 7
( Ge_dgraphy of India with reference to
N-E India)
Paper : GGY-RC-4016
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION - A

AR e L e Withirererence.to (¢) How many agro-climatic regions are

mentioned according to the Planning

N-E India) Commission of India.?
Paper : GG‘Y—HG—4016/GGY—RC-—4016 2 | Wﬂﬁ@m@ﬁmﬂ%ﬂt‘ﬂﬁ—%ﬂmﬁ‘@%
_ ‘ a3 T SIRET A B 91 (0=
1. Answer the following_objective—type questions: : | () Name the state where the majority of
_ ' - IRT=T ks petroleum reserves are available in
~ : ﬁ ﬁzn India.
oed SEEE KSR I8
T EHPRRS L .emcﬂﬁﬁmwmmwﬁ%mﬂ@ww
(a) What is the standard meridian of/ E}‘Eﬂf NG e I ol |
India ? : /: :" & Which one of the following water bodies
o iﬁ?{' HR GRSl 2 : {,_'3 ' f separates the Andaman from Nicobar ?
\‘. ‘.\-‘ . T\.J ) @mq W S = ST
(b) What is the total geographlcal area of\«&% e PR 1 79 TReR?
India ? & don
‘ | () 11° Channel
SR 0 CSINoTE SIS e 2 11° G
(¢) Give an example of antecedent river in (i) Gulf of Mannar
India. | . TS SR
ORed 93 SFS] T Trgae i | ' (i) Andaman Sea
(d) What is ITCZ? ' I sl
ITCZ &9 : (iv) 10° Channel’
10° (B
' -4/CBCS) GGY
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2. Answer the following very short answer-type | 3. Answer the following short answer-type

questions : Ox4=8 ? ~ questions : (any three) 5x3=15
oo Al wife it Ces-4=ed erEs Seq Al ¢ | ﬁmgﬁ?@—waqa TS I
G | o)
(@) Which two mountains surround India | (a) Give an account of the mechanism of
in the North—West? ' ‘ ! Indian Summer Monsoon.
R 77 s ST TeasiFe e W@ﬁ_ Wﬁwﬁhcﬁﬁmmﬂﬁ
e - ; [EESRRGIN
B0 R (b) Write a short note on the characteristi'cs
() What is meant by ‘bursting of ~Jn Co of Indian agriculture.
. ,’;_?x' -i‘.’-.’»h\_
monsoon’ ? / SN —ﬁﬁmﬁa @Fﬁ]ﬂi};ﬁ@?ﬁ_ @Bl 53] Cﬁﬁﬁﬁ'ml
‘GNpRE RewpRer Jfercet %w 272 '- " 4 7 ; (c)- What are the significant features of the
(c) Name any two agricultural practices of % e ( 'National Populgition—Policy, 2000? S
NE India. o : \age” 2000 599 G SR qfes Sl
s o ArEETR & e
CE9-7[d OIS Rl 751 F1R Aafes w1 et | ‘
(d) Write a geograph1cal note on the soils
(d) Name the states of India having the of India.
highest and the lowest density of e 6 F#IF G coTalifers G Bl
population. , (e) Discuss the trend of population grthh
SRS I I TR SR g 2 BUreRS
AR 1 o7 | y CEe-A7 ©iIed TR IEE 4@ A
: S 1
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4. Answer the following questions : (any three)

10x3=30
oo wal eTies Bed fual ¢ (R fofon)

(a) Give a geographical description of the
' Peninsular plateau.

wifEFeTey MeTefE coTliferRs 90t fat |

(b) Explain the difference between the
‘ Himalayan and the Peninsular rivers.

TSIIeTa s wifFeetiora 1R SIiee SATaee i
41 |

(c) Explain the agro-climatic regions of
India in detail including their
characteristics and agricultural
practices.

O PR-TEE TR ([T W FR
*fano oSl I 4 |

(d) What are the' key factors influencing -

the growth and development of Indian
industry ? Discuss.

SRS Tl g Ol RIS wel (ol
& FE [ 50 Ssn = |

(e) Explain the distribution and production
of iron ore in India.

3 (Sem-4/CBCS) GGY HG 1/2,RC/G 6

Ciee (1 T [Fegd o Sesiives [a
I =4 '

Divide NE India into physiographic
regions and describe any two divisions
in detail. 2+444=10

Ted-59 TReT T-eiFes TwEe ot T

Rty o1 Rere= Raes 4t <1
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OPTION - B

( Population and Settlement Geography)

Answer the following questions : 1x7=7
wore fal enpRe Oed 7l ¢
(@) When was the first complete population

(b

(d)

3 (Sem-4/CBCS) GGY HG 1/2, RC/G 8
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census started in India ?

. O 2 T @Ik @ foal o

1l 2feE e

Name one high population density
region in the world.

AR @R T TR G ST A
ferat |

Who wrote the book A Prologué to

Population Geography ?.

A Prologue to Population Geography &
folem @i e

Define population census. 7

(TR e wgeat &) |

(e) Which of the following is not a high -

- population density region ?

(i) South Asia

(i) Eastern A.sia
i), CentraltAmerica
(iv) Western Europe

TS L Al (PITUB! O3 (R SRt S
SEEGinEnE

(i) wiEE afea

({i) =& 9t

(iii) &y S

(iv) i 2SI
What is_lprimate city ?

A3 W97 e

Yg) What is central place ?

@RI P F (2
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Answer the following questions in very short :
2x4=8

W TR OIS 59 B ol 8

_(a)' Write a short note on the scope of
population geography.
G BlER 2R Bl Y (BIAl ol

What is the meaning of population’
migration ?

TR 2FeE e & 3@ 2

(b)

(c)

settlements ?

| £\
FIfe] Fologs g {52 \EN

Mention any two characteristics of rural
settlement.

&l IO RIcPIe 7567 (D) Srame 54|

3. Write short answers of any three of the
following questions : 5x3=15

O PTRA Ricll fofibie 5 Se i ¢

(a) Mention a few geographical factors that
influence the distribution of population.

R [e1eq (R & & (STl RS
SR (AT Sramdl 35 |

(d)

3 (Sem-4/CBCS| GOY HG 12, RC/G 10

What do you mean by morphology of /\
a

3 (Sem-4/CBCS) GGY HG 1/2,Rc/6 11

Discuss the stages of ‘Demographic
Transition Theory’ with suitable
diagram.

oY@ I I msfff?ﬁr CGieDe maﬁa
SIGISAS I [EIPRIRSEIN

Discuss briefly the scope of settlement
geography.

e grleH ﬂﬁ’ﬁ BT SHICETH <51
Hierarchically arrange the urban

settlements in terms of their population
N\ size.

W\WWWHWWW
SR

(b)

()

Distinguish between rural and urban
settlements. :

SIS SN SR G ALy forl |

4. Discuss in detail the meaning and scope of
population geography. 10

e RCIIGEACEACIERiSEE Mg el D
Or / 924

Discuss the population density regions in
the world with suitable examples.
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ToRe Tuiaemiz ojfedia TPRYR Y TR
@ =tE 5

5. Discuss the meaning and scope of settlement

geography. . : _ 10
GRS oo o2l W AfReiee KA Sl 4|
Or / 92t l

Discuss in detail the morphology of
settlements.

TS Frloed [a azaie a9 <41 |

6. Interpret the ‘Demographic Transition
Theory’ in detail and examin its applicabilaty
in present-day context. :
95+5=10
“COTA2NRre (GRebRS Ul Al 1 S A e
AfReFros ©ebR aay A9 54 |

Or / 9241

Define migration. Discuss briefly the push
and pull factors of migration. 3+7=10

AT AR 4l | cea e Sl S SIREE
B GG 41 |
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